
SAP ABAP table AUFM {Goods movements for order}

AUFM

MANDT [CLNT (3)]

MBLNR [CHAR (10)]

MJAHR [NUMC (4)]

ZEILE [NUMC (4)]

BWART [CHAR (3)]

MATNR [CHAR (18)]

WERKS [CHAR (4)]

LGORT [CHAR (4)]

CHARG [CHAR (10)]

SOBKZ [CHAR (1)]

LIFNR [CHAR (10)]

KDAUF [CHAR (10)]

WAERS [CUKY (5)]

BWTAR [CHAR (10)]

MEINS [UNIT (3)]

ERFME [UNIT (3)]

EBELN [CHAR (10)]

EBELP [NUMC (5)]

AUFNR [CHAR (12)]

RSNUM [NUMC (10)]

PS_PSP_PNR [NUMC (8)]

NPLNR [CHAR (12)]

SAKTO [CHAR (10)]

KOKRS [CHAR (4)]

AUFK

MANDT [CLNT (3)]

AUFNR [CHAR (12)]

 AUFM-AUFNR = AUFK-AUFNR 

0..N

{0,1}

 AUFM-NPLNR = AUFK-AUFNR 0..N

1

EKKO

MANDT [CLNT (3)]

EBELN [CHAR (10)]

 AUFM-EBELN = EKKO-EBELN 
0..N

{0,1}

EKPO

MANDT [CLNT (3)]

EBELN [CHAR (10)]

EBELP [NUMC (5)]

 AUFM-EBELP = EKPO-EBELP 
0..N

{0,1}

LFA1

MANDT [CLNT (3)]

LIFNR [CHAR (10)]

 AUFM-LIFNR = LFA1-LIFNR 
0..N

{0,1}

MARA

MANDT [CLNT (3)]

MATNR [CHAR (18)]

 AUFM-MATNR = MARA-MATNR 
0..N

{0,1}

MCH1

MANDT [CLNT (3)]

MATNR [CHAR (18)]

CHARG [CHAR (10)]

 AUFM-CHARG = MCH1-CHARG 
0..N

{0,1}

PRPS

MANDT [CLNT (3)]

PSPNR [NUMC (8)]
 AUFM-PS_PSP_PNR = PRPS-PSPNR 0..N

{0,1}

RESB

MANDT [CLNT (3)]

RSNUM [NUMC (10)]

RSPOS [NUMC (4)]

RSART [CHAR (1)]

 AUFM-RSNUM = RESB-RSNUM 0..N

{0,1}

SKA1

MANDT [CLNT (3)]

KTOPL [CHAR (4)]

SAKNR [CHAR (10)]

 AUFM-SAKTO = SKA1-SAKNR 0..N

{0,1} T000

MANDT [CLNT (3)]

 AUFM-MANDT = T000-MANDT 
0..N1

T001L

MANDT [CLNT (3)]

WERKS [CHAR (4)]

LGORT [CHAR (4)]

 AUFM-LGORT = T001L-LGORT 

0..N

{0,1}

T001W

MANDT [CLNT (3)]

WERKS [CHAR (4)]

 AUFM-WERKS = T001W-WERKS 

0..N

1

T006

MANDT [CLNT (3)]

MSEHI [UNIT (3)]

 AUFM-ERFME = T006-MSEHI 

1..N

1

 AUFM-MEINS = T006-MSEHI 

0..N

{0,1}

T148

MANDT [CLNT (3)]

SOBKZ [CHAR (1)]

 AUFM-SOBKZ = T148-SOBKZ 

0..N

{0,1}

T149D

MANDT [CLNT (3)]

BWTAR [CHAR (10)]

 AUFM-BWTAR = T149D-BWTAR 

0..N

{0,1}

T156

MANDT [CLNT (3)]

BWART [CHAR (3)]

 AUFM-BWART = T156-BWART 

0..N

1

TCURC

MANDT [CLNT (3)]

WAERS [CUKY (5)]

 AUFM-WAERS = TCURC-WAERS 

0..N

1

TKA01

MANDT [CLNT (3)]

KOKRS [CHAR (4)]

 AUFM-KOKRS = TKA01-KOKRS 

0..N

{0,1}

VBUK

MANDT [CLNT (3)]

VBELN [CHAR (10)]

 AUFM-KDAUF = VBUK-VBELN 

0..N

{0,1}


